| Sim /Q rools and Weyl qreup: | *
2imple reols onf =2y a5 | &1
Bgf, Call A € & o base of & T

(1) 2\ is & basis of £

(51 $ d 285/8 / Z, A“'ﬁ WLQPC oither

(82) Vpe 3 conwrite B2 07
0.‘.)1*62 or O2h, 2.

Say x & sre "'ng/e rosls. |A] =2 =d)m /F)
2_5__‘(‘, VlJe §' D-L).ei,w o'f'/g wr.t. A s "W?};‘«
I+ 0 ¢ha sey /6 >0 (isf‘siz‘;n), andol
if 02hy ssy pLO (is nepolive) .
BE-(ped|2pr0}, & F, 2807
For =, £ c—f‘: it w*ﬁ&fﬂ»\x*ﬁéff |
Qg‘f.bef‘iu arartial order ;m £ Ly,u < ) Ras
NS4 OF AT =u£k"°< forall Re20 in 2




| This is an imperlart énd *
i m usetfull concepl,
we Jon'f)‘af Hnow The¥ o bA:e :xisﬁ‘/;a;ﬁi@

reot system. I th ronkt 2. rosT systems we hore
seen, A= [ut, B is o bsse, and (%,8)40.
[emme, If A is &Ldft oF E Clar V'(*} in O
wehare (K,ﬁ)éo swd X‘IB & 4.

Pt Suppose (%, 8)20 . hiven ¥ £8 we musTFalso
heve ‘(I;,; since slrwvise (*.,3)’[-/,/8)40‘ &

? lasf [cm.m L, d‘,& & } wouu cauxmo{o‘cl‘ SRidm BZ).,

Th. & hes abase .
we will develop & meThod To conslrucTll pessib/e

base $ .
Delt VO¥Y €& (el F. \{, g{'(é-E ) (Y.“‘) 70} bethose
_root‘s on The side of Arfer,/dnc fy (on'tdihin] Y. '

o




.E‘_*.‘i. Eisnet afinite union of A, f/”e’)"ﬁ_ﬂ
U, Lo gE 53)' Yéf"“(&/; X iS5 re u’dl-,

b ot Yéo((é-eok '$ sin;u.lér N 4 r¢,¢(6r m:du;
(v ) 20,V ¢ &, and thon P: Flviv-¢ ()

2_8_'_(‘. S&y er*(\r) s Jeumﬂos&'o/e i F ot =/, f/,_

£or some /:, é f*(Y)'otkerwi:e Soy % IS

indecom ﬁosa‘:/e.
Thew the set Alr) ot

T .LtYéfb requlor.
—h y . ee]ro:'gs )\ é*(Y) is o baseof ,

|| indecom osobl
and .3"0'/ L&’.;e ot é is & A(Y) for some refu/dr Y.

p£. Steplll: V& §T(v), x5 Z R B for0chs €2

p Aealn)
;T ‘fhot, /c'f' X & é [Y)‘e o)wse h SM‘




[
C/edvl/, X &A(Y) so 1S Jeconnfosibé, [92

o(=f,‘f'13,_ for Some po,ﬁ;é Q*(Y)' ond (v, %) =(v )ty

o d (Y, }‘) 20 So eu‘\ 1S smaller Thin 6’, %), B/!t'mf;)

o 'f' %, eac‘u l&; R hOn-nej. z",fﬂ. comb.Erom A(V/’

to Dheir Sum i$ tko,Con'f‘rdalic'tion.

Stez(l): T€ «, BEA) wilh ot 38 Chon (< 8) £0.

It (= p)2e Dfo(—/ee P 50 ciler A€ f*(v) orf—«sfdi_
If «-B¢ 3r) the =Ff(¥'/6) molre s & /ecoaruaé/c.
It B-* e §ty) Then [g=o<+(/d—.<) moltes S /econ/oul/e,

5'6¢'g(3): AlY) is lin. 1 dep.
R . jof&r&'fe Y, 20 firem

Saurfou Z_ Yo X =0 for Yu
those wiDh Yu €0 T4

Z K6 A(Y)
£= S ol 32 ' -F"' 3, /\5 = J‘u‘f‘ts OfA(Y)
aéS, ) pés £ F ;“701’, 4/3 20 . ’

Then (C,f) = Z.-Z Sutla (ﬁ,,d) €0 L’ ffef(z), so £=0.

®ES, BES,




| Thew 0=(r€) = . |
Thew 0 =(7€) ‘“% s (ro) 70 is 8 conlrdidtio. (193
Note: The br’ume-vt' showr DheT 8ny cofo T veclars on |

/O»L " E with 2l fdir: o'f vuYor_,— |

ort S;dt o f o L-,,w
g\,t an obtuse &Yﬂ. ( 3"/;) mu:'t le /;'4- ) n /y,

Sfe’g (¢): Alr) is sbese F 2. \
- 570 u-Bllr) and StepO)give (82). <47=E
ond <A(T)>Z.?. & so @(‘Y)>=£. Step (3) shows Alv) is 3
basis o £, 50 (B 17 is Trae. : |
Sfcﬁ (): Each bise Aof & iss AGy) for some repulir

base A of }; {ind {‘YéEI(');.()m/eA}

re E. Oiven
from Exercise 7(,@ ¥ wilh kin'l")’ Analfm‘l ;

18 non-eonf'f)'
From That s6. Tt muslloe re,a,/ar by (B2) ind

sny Y 1
= fr(r)' ¢ c-3'(x) so LiThere =", 3t=g7r)
mems O & AlY) ere inJeumf.ruz‘;, |a) =L =|AM)] <o |

A =A(Y)_ a




ZE:_F- The connecled com ononls o
sre called (opun) Wey2 oLiers . tE- U B (194
Eéc‘\ rtfﬂ.lbr Yek& i1sin exu‘t"/ one Wc,l cﬂu.,k,;
Jensted by Clx). COO)* Cly!) i FT T ond Y ot om
o semt side o eask by er//.ne Lo € g, so
Ak 37(r) snd OO =A0r'). This givess L,-/-ur.,.‘
bo‘fueev\ We)'Q GL*"\-LCVJ 3“1 La:es.

it AzAK) and collDhiy

pet. Lt C(2)=C ()
| D}~ ( ) Jw...,éer releTire T A.

+le "fa.nlabcdfgf Weyl

/N "‘«Q {YéEI D)
baunl&l Lr th Ar,nr'olucs f," ot €4 .
A ronlt 2 reel s/v:fen\, relitive To

Eyertise. For esc
our choict of bace A "{‘(' /31, draw the unds westal

chamber. See FF, 1o P- ¢4 for cose ot Az, ,

is on o,l-n. convex sel



